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c.a. 13'30"

I: 4'30"

II: 6'00"

III: 3'00"

Accidentals only apply to the notes they directly precede, unless connected by a tie.

Slurs are only present to show phrasing or gesture.

Grace notes indicate to play extremely fast and unmeasured.

The final pitch of any glissando is not meant to be emphasised.

NOTATION

CELLO SCORDATURA

The cello should be retuned to the following open string pitches 

for the second movement only. The movement is written 

as if in regular cello tuning for ease of the player.

c.a. 8'00"
I: 4'30"
II: 3'30"
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



œm 
3

arco pizz.
arco pizz.

 = 98
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







Tbn.

Vc.

Pno.

gliss.
exhale

exhale

gliss.
51

œµ œµ



œ 


œµ œ œµ  ¿µ
ta



 
 
 
 
 

  

œ




œ œ
œµ

œ

  


œ    



œ
     

œ



sfz

A

bounce

mf

arco
pizz.


œB



œm



¿

œB
œ

œ

œµ œµ
œ
 



œ

10:6œ



3:5œ





œ
œ

œm
œ
œ



œ



œ



œ


œ œ



3 5







œœm 


œœ



œ œ

œm


œm



œ

3

5

p

arco pizz.

arco



œ
 

œB œ œ




œ

œµ

8:9œ



œm œ

œ œ

œ

œ
œ

œ 




œ

œ

5:3œ



pizz. arco
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







Tbn.

Vc.

Pno.

gliss. gliss.



54



¿





œB


œ œB œ

œ œ œ
 

3

 

œµ
œ 

œB œµ œ

œB œ œB

3

œm œm

œ

œ

œ 


œm  œm

œ
œ

œm



œ


11:7œ



3

 

pizz.

arco

pizz.

 œm œ
œµ 

œ œ




œ

 
5


œ

œB 


œm     


œ

 
œ



 

œœœm œ œ


œ

œ

œm œm œ

5:3œ



 
œm œ

œ 
œ

œ
œm œ

œm œ
œ

œ

m


œ

5

6:2œ



arco

 
œB œ 



œ



œ œ ¿B


3

œ



œB  

œ

œm
œ

œm œ œ



œ

œm œ
œ

œm
 

œ

œm

3
3

œ

œ

œ

œ

œm
œ

œm œ
œm

 
11:7œ



3:5œ



mf
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







4
4

4
4

4
4

4
4

Tbn.

Vc.

Pno.

gliss.

gliss.

57

œB
œ



œ





œµ  


œm   œµ 
œµ  œ



œ œ
œµ

œµ



œ

5
3



œ




œ œB
œ

 œ
œ

œ  


œB

5:2œ



œ œ œ

œ œ

œ œ
œm


œm œm œ

œ
œ

œm œ



œ



œm
œ

œ
3

3

pizz.

arco

pizz.

 = 174.2 (approx. 174)


œm œ



œ

   

œµ
 



œB

3

œm  œB œ

 
œ


œ

 

œ
3

œ

œ œm œ 


œm –

–

mm œm œ

 
œ œ

œ
œm 


œ

–

–

œ


9:16œ



arco pizz.
arco

16 Susie Islet











Tbn.

Vc.

Pno.

gliss.

59

 


œ


œm




œ
  œB

 œ œµ
 



œµ

5:2œ






œµ  
·

œ

B
B


œ



œB   œB


œ
 

œ


œ 

œ


œm œ
œ
m

œœ

–
–m œm

œ
œ
m

œ 
œ

œ

 

12:16œ



pizz.

arco

pizz.

B
Dd




œ  œµ



œ 


œ


œ ¿






œB
6

3

ta

œ œµ
  



œµ

   
5


–
–m œ œ

 

œ

 

œm œ œm



œ


3

 
œ œ

œœœm



œ

 
œ

œm

œ

œ

m
œ

œm
œ

œ

m
œ

œ

m
m

œ

œ

5

5

G#

A#
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







Tbn.

Vc.

Pno.

gliss.

gliss.

gliss.gliss.



61
œ

œB 
  



œµ



œm  œµ


œ





œ œ

3

 

œ



œB

œm œB
 

œ


œ œm œ œ

œ 
œ

4:3œ



œ œm
œ

œm œ

œ

œœm œœm 
œ

œm œ œ




œ
œœ
bm 



œ

œ

œœ

œm



œ œ
œm œm

œ
œ

œm
œ

œ

3

3

C

arco pizz.

arco

œb


œµ  

œµ œ œ
œ œB  œ

 œ


œ
 œ


3
3

 

œB


œ

œm  œ 
œµ

œµ œB
œµ

œ

œm œµ œ

5



œ
œœ

œ

œ

œœœm 


œœœm




–

–m


œm
œ 

7

œ

œ
œ



œ



œ


œ
œm

œ œ

œm
œ

œm œ

œ

œ
œm

œm

œm
œm

œ

œm
œm

œ 

œ

7

11:5œ



3

mf

E

pizz.

arco

 = 126
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







Tbn.

Vc.

Pno.

gliss.

63

œµ
œµ

œµ

 œm  œ


œ

 œB 
œµ 


œB 
œ


œ
 


œB 
3 3

œB œB œµ œ œ  œB
œ

œµ
œµ

œ

œ
œ

œ








œ







œ

 
3

5

7

œ

œ
œm

œ

œ
œm œ

œ

œm œm

œ

œm

œm
œm

œm

œ

œm

œm

œ

œm

œ

œ

œm

œ

œ

9:8œ



5:3œ



3


œ

œ œm œm

5

E

G# F#

C
E

C C

œµ  œ œ

  œ
 œµ




œm  œµ


œB  œB


œ
œm

œ œµ 

œµ 


œµ  œB 
œ


œm



œ
œm 

œ
œ 


œB 

3

5

œ

œ

œ

œ

œ œ

œ

œ œ

œ œ

œm
œ œ

œ

15:14œ


3

œ

œ

œm
œ

œ

œm œ œ

œm
œm

œ

œ œ

œ 

œ

œ

œm

œ
œm

œm
œ

œ
œm

5:2œ



3 3

6

E
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







Tbn.

Vc.

Pno.

65

 œµ
œµ

œµ œB ¿B
 œ œ

œ

œ



œm œ
œ œb

3 5
3

œ

œ œ œ œm  œB
 

œ

 
œ œ œ

œm œ

œ
œm

œ

œ

œ

œ




5 7

œm
œm œ

œm
œ

œ

œ



œ
œ

œ
œm 

œm œm
œ

œ

œ
œ

œ œm œ

œm
œ

œ
œm

œm
œ

œ

œ

3

15:10œ



6

œ
œ

œm
œm œm

œm œm œ

œm
œm

œ
7:5œ



3 3

ff pp

ff pp

ff
pp

C# D#

ff pp


œ œ

œ
œ ¿

  

œµ œ œ
œ œB  œ

 œ


œ
 œ


7 3

œ
œm œ

œB œB
 

œµ
œµ

œB
œµ

œ

œm œµ œ

3

5



œ

œ

œ

œ
œ

œm œ œ

  œ

œm
œ

œ
œ



œm œ

œ

œ

3

5

3


œm œ

œ

œ

œ

œ

œm œ

œm
œ

œm
œ

œ

œ

œm œ

œm œ
œ

œ

œ

7

3



ff pp

ff

ff
pp

ff

pizz.

pp

arco

pp
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







Tbn.

Vc.

Pno.

gliss.

gliss.

gliss.

67

 

œ œ œm
œ

œ

œ œ ¿



œB

œB œB œµ œ
œB œµ œ œB



œB 


œ


œµ


œB 

3 3



œ œ

œ

œ œm
œ

œ

œm œ



œ


œm œm
œ



5


œ

œm
œ

œ œ
œm œ

œm
œ

œm œ

œ
œm

œm
œ

œm
œ

œm

 

œ

œ

œm
œm

13:8œ



3

3



ff p ff p

B

ff p

C

ff p

ff p ff p

pizz.

ff p

arco

ff

œµ
œ

œ

œ


œ

 œ
   œm

œ



œB  œ œ




5

œ œµ  œ

œµ
œ œµ 

œ œm
œ 

œ
œB  œ

œµ œ œ
œ

3 3 5

œ œm
œm

œ

œm œ œ œ

œ




6

œ
œm

œ œm œ

œ
œ

œm

œ

œ 
œm œ œm œm

œ

3

5

3

ff

E

ff

ff

pizz.

ffp
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







Tbn.

Vc.

Pno.

gliss.

69
œ



œ

 œB  œ


 

œµ 
œB



œ 


œm 
3

3


œµ  œµ œB



œµ
  

œµ œB œB œµ   


œB  
œµ  œµ  œ

5

3

5

œ
œ

œ

œ

œ

œ

œm

œm œ

œ

œ

œ



œ



œ
œ

œ

œ

œ

œ

œ
œ

œ

œ

œ œ

3

7:3œ


2:3œ



5:3œ



p

p

p

p

arco

œ


œµ œB   œµ œµ  
œµ 

œB
œ

œ


œµ
œ
 

œB œm
œµ



œ



œµ 

œB 



œB

3

œ œ


œm

œ

œ

œ
œ

œ

œm œ

œm
œ œm œ œm œm



œ

œ œ



œ

œ

œ

œ

œ

œm

11:7œ



3 3

5:3œ



f p

f p

f p

f p
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







Tbn.

Vc.

Pno.

71

œ œ


œm
œµ 
 

œ

 
œB  œB 




œB  
œB 

œµ3 5

5


œm 

œ
œm  



œB    œ


œ


œm   


œB  
œµ œµ œµ œm5:3œ



5





œ

œ œ

œ

œ

œ

œ

œ

œ

œ

œ

œm

œ

œ
œm œ

œ

œ

œ œ

œ


œ

3

7

3



mf

mf

mf

mf



œµ 



œ



œµ   
œ

 œµ  


œ
 



œµ   


œB  
3

5



œ



œB  œµ œµ




œB    œ œm  œ 


œB 
3

5

œ œ

œ

œ
œm

œ

œ
œm œ œ

œ œ
œ

œ



œ
œ œm

œm

œm
œm

œ

œm œ

œ

5

5:3œ



œ œm
œ

œm œm
œ

œ

6
3

p mp

p mp p

p
mp p

p

pizz.

mp

arco
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







Tbn.

Vc.

Pno.



73

 œ


œ

 œ
 œ



5




œm  


œµ  


œµ   


œµ 


œµ 
3 3

3



œ

œm œ

œm

œm

œ

œ

œ

œ

œ œm

œ
œ

œm
7

pizz.

 
œ

 



œ
  



œ

  

œB 



œµ 
œB

œµ 


œ   


œµ 


œB 
5

5

œ œ
œ

œ
œm

œ œ
œm
 

9:5œ






œ œ

œ



œ œm
œ

œ
œm œ œ

3

mp

mp

 

¿B    
¿B   

5:3œ






œµ 


œµ   œB 

 
œ

œ
œ

œ

œ



œ

5

œ
œ

œ

œ

œ œm
œm


3

5





œm œm

 
3


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







4
3

4
3

4
3

4
3

4
5

4
5

4
5

4
5

Trombone

Piano

Cello







    

    


harm mute

mute

pp

Cello





   
     

      

 

 
 

3





 
     


   

3 5



   
    


 

 
 

5:3


3

 




  





 

       

 

 

      



 
 

7

 


 
 

   
 

6:5


pp

sul tasto

pp

gliss. gliss.

gliss.

II











Tbn.

Pno.

Vc.



81






 



 


   


 


 





 



 




3 7:6






 


       


 

 
 

 
 



 
 

 
 




  
 

6
3 7 9:8



 




 
 

  
 

   3





 


 




  






3

  


   





 

3

 



 

 
 

 

3


 

   
 


 

 
 



 




   














  
       

 



5 3

 
 

 
 



 

  
 





6

        
 



p

p

mp p mp

mp p

gliss. gliss. gliss. gliss. gliss.

gliss. gliss. gliss.
gliss.

gliss.

gliss. gliss.
gliss. gliss. gliss.

gliss. gliss.
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







Tbn.

Pno.

Vc.



84



 


 









 


















5





















   


















6:5


9:8


  



 


 


6

   


 



6

pizz.

p mp p mp p mp p mp p mp

mp p mp p pmp mp p mp p mp

 




 

























 


 





5

  











 






 


 






















6:5


3


 


 


 



6

  
  

  


6

arco

rit.

gliss. gliss. gliss.
gliss. gliss.

gliss. gliss. gliss. gliss. gliss. gliss.

gliss. gliss. gliss. gliss. gliss.

gliss. gliss. gliss. gliss. gliss.

gliss.
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







4
6

4
6

4
6

4
6

Tbn.

Pno.

Vc.



86 





 



 




 































5

 




 







 



 






 















7:6


6:5


3

 


 
  

6

 
  

  
6


































 








 










5






 



 






 


























 








6:5


3 6:5








gliss.
gliss. gliss. gliss. gliss. gliss.

gliss.
gliss.

gliss. gliss. gliss. gliss.

gliss.gliss. gliss. gliss. gliss. gliss. gliss. gliss.

gliss. gliss. gliss. gliss. gliss. gliss. gliss.gliss.
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



Tbn.

Vc.

88




 

















 

































5 5









 








 


 


 




 









 











 

3 6:5


6

pizz. arco

f mp 
 























 



 















 

 


5

3

ta ka ta ka










     




 



  


 


 
  



 




 


   
6:5


3 6:5



smfz

pizz.arco

sfz

gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss.

gliss. gliss. gliss. gliss. gliss. gliss. gliss.
gliss.

gliss. gliss.
gliss. gliss. gliss.

gliss.

- - -





Tbn.

Vc.

90


























 







 


 














5
5


 








  





 






   





  
 


   

  


   
3

6:5


3





















 





 
 




   




5





  


  










  


 


     


 

6:5


3
pizz. arco

smfz

gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss.
gliss. gliss. gliss. gliss.

gliss. gliss. gliss.
gliss. gliss. gliss.

gliss. gliss.
gliss. gliss. gliss. gliss. gliss.

gliss.

gliss.
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



Tbn.

Vc.

92



















 








  























5







  
















  


 



 

 
  






 




6:5


3 6:5


sfz

pizz.

fmp

arco

fmp












































 











5 5


 

















  






 








 







 







3 6:5


3





pizz. arco

gliss. gliss.
gliss. gliss. gliss.

gliss. gliss. gliss. gliss.
gliss. gliss. gliss. gliss.

gliss. gliss. gliss. gliss. glis
s.

gliss. gliss. gliss. gliss. gliss. gliss.

gliss. gliss. gliss.

gliss. gliss. gliss.









Tbn.

Pno.

Vc.

 

94

























   





 







5



 










 



 






  









 








 




6:5


3 6:5


 
     

 


 
  

 
   3



mf mp

p

fmp













  












 






 




 





5 5


 


  































 











3 6:5


3


   

 

    
  

smfz

smfz

 





 








    

6:5




  


    
3

gliss. gliss.

gliss.

gliss.
gliss. gliss. gliss. gliss. gliss.gliss.

gliss. gliss. gliss. gliss.

gliss.

gliss. gliss.
gliss. gliss.

gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss. gliss.
gliss. gliss.

gliss.
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


